Inlet Duct
Part Number(s) : CID2RU16-20DB1

PANDUIT

© Panduit Corp. 2015

INSTALLATION INSTRUCTIONS

Inlet Duct is designed for Cabinet with
equipment mounting rails spaced at 29.2”.

V00029GN

Inlet Duct includes:

&@Q
-
J
““&‘g
i I
Equipment § | |1 o
mounting 4] TRt , Front Perforated Plate Qty. 1
le— rail : 1 .

202 || 1 1M

Rails Qty.4
Hardware Included #12-24 Bonding
M3 x 0.5 x 8mm | M4 x 0.7 x 10mm|M5 x 0.8 x 12mm M6 x 1 M6 x 1 x 15mm Cigc‘; Z:é:'t 90° Flap Seal
Flat Head Flat Head Button Head, Cage Nut Round Head with 1.75” Flap

Machine Screw | Machine Screw Serrated 4x Screw Length

8x 8x Machine Screw 4x 1x

8x
% f

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 8



© Panduit Corp. 2015

INSTALLATION INSTRUCTIONS

V00029GN

Install Bonding Cage Nuts into the front equipment mounting rails at the desired RU location

#12-24 Bonding Cage Nut 4X

L
N

M6 x 1 Cage Nut 4X

T

©
=

Eig
D 7 5065 G 684

©
=

The four #12-24
Bonding Cage Nuts
must be installed in the
top two positions
as shown.

Note: The Bonding Cage
Nuts have 3 serrations
on either side.

Front View of Cage Nut locations D
Locations for the #12-24 N
Bonding Cage Nuts 4X D )

Locations for the M6 x 1
Cage Nuts 4X

Install Inlet Duct onto the front equipment mounting rails

M6 x 1 x 15mm
Round Head Screw 4X
Tighten the two top screws
only at this time.
Torque specifications:
7.3 N-m [65 in‘Ibs]

DO NOT TIGHTEN
the two bottom screws
at this time.

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 8



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS V00029GN

Replace Switch Rails with the Rails provided

@ 1RU Switch (Not Included) @
For reference only.

Remove the Rear Brackets from the switch.
Note the size of screws that Rear Brackets are
currently attached with. Provided Rails will be

attached with the provided screws of same size.

® @

Install the provided Rails.
Assure that the tapered
ends are facing inward.

A total of two Switches can be installed into the Inlet Duct.
Rails are provided for a total of two Switches.

Screw size option 1:
M3 x 0.5 x 8mm Flat Head
Machine Screw 4x
Torque specifications:
1.0 N°'m [9 in-Ibs]

Screw size option 2

Screw size option 2:
M4 x 0.7 x 10mm Flat
Head Machine Screw 4x

Torque specifications: =
2.2 N'm [19 in-Ibs] T

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 0of 8



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS V00029GN

Install switch(s) into Inlet Duct

Slide the Switch into the Inlet Duct. .

For single Switch application, Switch must

A\

/

be installed on the lower level of Inlet Duct. e
a
Secure the Switch’s Front Brackets é;ﬂ
to the rear equipment mounting rail . ﬁ;ﬂ
(Hardware not Included) ggﬂ
s}
)
Align the slots on the Rails to the threaded Efj'
holes on the Inlet Duct. Ej
B
]
]
4
é;ﬂ Rear
! o equipment
| i mounting rail
ped
b0
b0
]
B
P

Rear equipment
mounting rail

.| Switch’s Front
Brackets

M5 x 0.8 x 12mm Button Head, S
Serrated Machine Screw 8x 0
Torque specifications: 0

5.1 N-m [45 in-Ibs]

A

@

Y
=
A\

[y
BB R BB AR BB B BB B B b

o Bk

n T

ADBBQQQDDQDy
=]
@
)
1)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 8



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS V00029GN

Loosen the Wing Nuts that |
are located inside

the Inlet Duct. 2 places. |

iz 1 8T

SO0 84848

i

EEEEEEEEE

192

0
g 00D

L_‘.

S=p=p==J=]= (ChL
192

G2

€2

0

Move the Adjustable Bracket until its edge
aligns with the rear of the Switch.

Flap Seal
Attach the Flap Seal to the edge of the

Adjustable Bracket to close off the open space. Adjustable Bracket

/AQQEEQEEQQQEQQE
B
jm)
1

17

Y

LA WA

lpebobobbeLObBOODRLRG

A

E A T - L

1

b
[y najujuiniujuinjaluiu) i NN s} el aiayaiu]
T

=

g
g
o
:
a
;
a
2

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 50f 8



V00029GN

INSTALLATION INSTRUCTIONS

© Panduit Corp. 2015

A N O AW} A A} N A} A} A AW} jn'y (WY AW} jmy AW} N

2R3 2FITRRBIRIRT TR IR

S 3 ) 3 K3 n ™ kL) kil ™ % kL = = kA ]
[ %o B W B o W o o o o o o B o o ' (SRS e o e e e e e R

/

Flap Seal

ugUUﬂﬂdﬂﬂﬂﬂgUﬂﬂﬂgdgﬂﬂdﬂUﬂadﬂﬂﬂﬂgﬂﬂﬂﬂdﬂﬂﬂfumﬂggﬂﬂﬂn

Uﬂﬂﬂﬂﬂﬂgﬂﬂﬂﬂﬂﬂggﬂﬂﬂﬂﬂﬂﬂﬂ&0 - Qﬁo < Oﬂwﬂﬂﬂﬂgﬂﬂﬂﬂﬂﬂgﬂﬂﬂﬂﬂﬂg

L)

ﬂm@ﬂﬂﬂﬂﬁ@@ﬂﬂﬂgg@@ﬂaﬂg@@@ﬂﬂgg@@@ﬂﬂﬁﬂﬂﬂ@@ﬂﬂﬂgg@@4

WWWWWWWW@WWWWWWWW

2 28358 3daadaddidad i

e e o o @ e o e

M@@ﬂﬂﬂg@@ﬂg@,

u@,ﬂﬂggﬂﬂﬂ@@gﬂ@\

=)
\@@@@ e El e

%ﬂﬂﬂgﬂﬂﬂﬂﬂﬂgﬂﬂﬂﬂﬂ

Inlet Duct with one Switch installed.

—
Re)
»
Q
Q
2
%)
n .
£s
= &
29
cQo®
.Ipe
c oW
L ca
=@
»n s
TP T
c8
e.M.B
¥ o« QO

in.asp

t.com/resources/install_mainta

www.pandui

For Technical Support

Page 6 of 8



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS V00029GN

Tighten the Wing Nuts
that are located inside
the Inlet Duct.

2 places.

Reference Torque
specifications:

3.7 N-m [33 in-Ibs]

e
28

I

e
27

Cmimlm{minlnw

9

°
24

T

o
23

Oooooogao

S S S A

T

O000OuPuouPuoO0oooooood

Cable Routing Option

on either side of the Inlet Duct.
Use a Utility Knife to slit Power
Grommets along guides.

Power Grommets

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 7 of 8



V00029GN

INSTALLATION INSTRUCTIONS

© Panduit Corp. 2015

Top Flange

Install Perforated Front Plate

Install the Perforated Front Plate over the two
bottom M6 x 1 x 15mm screws that were

previously left loose.

Rotate the Perforated plate in place by tucking the

Top Flange into the Inlet Duct.

M6 x 1 x 15mm 2x

1S

\S) ]
S s S s S s S s S S
=4 e =4 e =4 e =4 e =4 e
® /8@
Sooper]
MMWW%M.@%%@M L
it @%@wwm@&a %
0 SRS 50505050 [}
= o) P -
e (<3
N o g
E® =
€ o £
0 E W
— O ©
e —
X o £
— 0 £
[0}
x 8 zZ
Qo™
= 5N~
T
[
oo
S
ey
e
(EEeEeEeE 52555
N@E@@@@ @ﬁ@@m@@@@@@@@@@@@@mﬁ
8Z Z b £ £ 0Z .73
i} S S /_ @/_ S S S S IS} S
= =4 =4 / =4 / =4 = =4 = =4 = =4

Install the four #12-24 Grounding Screws
into the Grounding Cage Nuts and tighten.

Also tighten the two bottom M6 x 1 x 15mm
screws that were previously left loose.

x
/4
m..
[2]
[CRE=3T)
522
N
O .=
D=
£359
SR
c o
S o E
o=
O3
<t S0
)
N =
~
el
+

E-mail:
techsupport@panduit.com

PaNDUIT

For Instructions in Local Languages
and Technical Support:

Phone:
866-405-6654

www.panduit.com

www.panduit.com/resources/install_maintain.asp

Page 8 of 8



